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(A) CHy4 (B) Si0O4 (C) NaCl (D) MgO
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(A) NO, (B) HsPO4 (C) CH;0H (D) Mg(OH),

FEZHNONO, " NO=Zfi 45973 % B+ 5 Bfeen | M %o G L e
(A)NO;>NO>N,0  (B)NO,>N,0>NO  (C) NO>N,0>NO, (D) N,O>NO>NO,

TR G K LD

(A) S-O 4t : SO,>S0>S04* (B) C-C 4t : C;He>C,Hs>C,H;
(C)C-C4t: ﬁ;ﬁc}, >t &E=F (D) N-O 4t : NO>NO>>NOs
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(A)E 3 fz i (B)E B 4t (C)F 2 4 & # (D)% 2 ¢ ok

TAYR- B E F TR RT F 5 3s i ?
(A)n=3>/=1 >m=0> s=-1/2
B)n=3>/=0 > m=1> s=1/2
CO)n=3->/=0 >m=0-> s=1/2
D)n=3>1~1 >m=1> s=-1/2
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(A) CsHy, (B) CsH;,OH (C) C,HyCHO (D) C4;H,COOH
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11,7 5 »cicd A5 (17mL+127.7 mL+22.55mL) ek > HE 5 %> mL?

(A) 167.25 (B) 167.3 (C) 167 (D)170

12. 4. STP ix it * » ¥ 2 3+ ¥ kB (stoichiometric concentration) £ & % > % ?
(A)5.21 (B) 2.72 (C) 9.55 (D) 0.85

13.2 % “BE2746 g8 KR E2 38 F Roivsad =5 % 0 sz gt ? (molar masses: P=30.97g>
Cl=3545g-H=10g>0=16.0g)
(A)48 g (B)27¢ C)l6g (D)20g

14.7% f5 ¢ fg ez aF £ 5 +38.56kJ/mol ~ &4 5 -1,370.7kJ/mol » F F& 1g F i ¢ @4 9

(molar masses : C=120g>H=1.0g> 0=16.0g)

(A) -1,409.26 kJ (B) +1,409.26 kJ (C) -1,276.7 kJ (D) -30.6 kJ

157 - 2+ B FE BRI X:#E 030 B > 73K HA4F %% (de Broglie) A& ? (7{"”93 oW B h =
6.63x103 - s» 7 3 EE 9.11 x 103kg » ki 33 x108m - s!)
(A)8.09x 10" m  (B)8.09x10°nm  (C)2.7x 10> m (D) 6.55 x 10*m

16.9 i L T# 25 J5 5 2AP g+ 3Mge) > 2Al) +3Mg¥ g 3 F T 5 T4 RIS ?

(A) HCI (B) Mg (C) Al (D) H,SO4

174588 F BTA2 R AT BRI B4, 3 P SR H F B dek s PR X g%t 57
(A% 14 (B)% 2 41 (C)% 34 (D)% 4 %

18.% #4152 5 100°C 1500.0 g -k ] » 25.0°C 12500 g -k ¥ > RI-kehd B8R 5 7 9
(A) 50.0°C (B) 62.5°C (C) 75.0°C (D) 85.0C

19.¢ {r 48.0mL 1 0.25M H,SO4i% ;% 5 & % *° &8 4# 511 0.30N NaOH 73 i% ?
(A) 40mL (B) 80mL (C) 48mL (D) 24mL

20. % 25°CPF » & § 144 Ni(OH), (IN)e Ksp & 5 5.0x107'0 - A& 25°CpF » & o2 &4 5 > 5. e1d §
1Y F
it 44 (I1);% f2 ? (molar masses : Ni=158.69 g)
(A)5.0x10" g/ (B)5.4x102¢/L (C)4.6x10* g/ (D) 7.4x10 g/L

SN SEEBRH I (FEIAL X 604)
21.7F | oRA B AF R R A 6 F] pH & T E @ 8 e ?

(A) ZnS (B) Pbl,
(C) AgCl (D) AgsPO,
(E) K>CrOy
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26,18 % o A (NoHy) #1552 § (N0 £ Rkl B35 £ #K R o
oI NoHs 87 46 5o e N, O 2 2 F R 7| &Lt P;ﬁ T Fx? (H— ~N=14 ~ O= 16)
(A)F i A2 24 -k 36 5
(B! bo| B dic s T = 4258 - 7 19 & de s 10
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(A) H2SO4 (B) Cug
(C) AgNO3(;) (D) C6H12O6(1)
(E) NaClg,
2841 A’y + NHygy “AgNHa)y' h e # o e x A ik o RIT S gcit o 4 2 A
(A)T e 2 45 (B) [Ag" ],}; i
(C) NH; 3 2 ﬁii‘a 4p (D)/p /li’ 5 %",;:l

(E) [NH;]3 ~

20.F Mg BaE T P TR o P F B

(A) Cs™>Na* (B) Mg?>™>Na"
EC)) F'jNa+ 3 (D) Li"™>Na"
E) Cr=>Cr’"
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32.% STP g it ™ » 31 20 F2L P EREF B TE S F EHE Xmol 32 EEAR (stoichiometric
concentratlon) N5 Y% # J‘E 7] o X L T FE?

(A) X =11.28 (B)Z 3.0 mol O,
(C) Y=0.272 (D) X+Y= 17
(E) X-Y=19.6

33.% it 42 2. 08 g 7% 500mL -k 2o R AE R ER x Mo R & EL4T 2.46 g3 > 1,000mL -k 2
BAMAE T R ERE yM A A UKY 9 2 a 5o BT 7 e F & & ? (molar masses : Ba=137.33g>
Cl=35.45g> Ca=40.07g  N=14.01¢g> 0=16.0g)
(A) x = 0.02 (B) y=15.0
(C)z =2.61 (D) x+y+z = 17.63
(E) x+y-2=0.035

34.% F - K }7@:7 - f}fﬁ* R rvb 3X(g)+Y(S) :ZZ(g)+W(g) s [@;#L AH = -280 kJ/mol > E'J JIE’ ;]5 g I
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OF $e%14 Dy=R+ 1 3 4515

(E)F—B—F gt & 4 120 &

38.% G ARG it LR E A 4 SO, @ TR RSO R T U EEF RF BT S EIRE 0 RS
* AR & 9 NaOH 7 i e 1 LRBI T 55 — B 3.202 g i 5 &0 gE o 1 %3& H:c% rd o=
180, = 2 Fifk > F & 50 mL £0.20M NaOH = 2 jf o 3 W ™ 7 cif o F’ 72 ? (molar
masses : Na =22. 99g S=32.06g)

(A)?) % 2 Fefe 9 5 0.05mol (B)2 % 1S 4% 0.005mol
(€)% % 180, 9 % 0.05mol (D)2 & 1S 4% 0.16g
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